
2
1

27-1012-0004 - 16in Cooler with 16in Brushless Fan

3

5

4

ITEM NO. Part Number QTY. DESCRIPTION
1 27-1099-0003 1 16x16x3 Core With Bypass
2 27-2075-0010 1 16" Fan - Brushless

3 BOLT-M5x25-SOCH-SS 4 Metric Socket Head Cap Bolt M5x25x25 - Hex - 
Stainless Steel - 316

4 WASHER-#10-FLAT-SS 4 Narrow Flat Washer - #10 - Stainless Steel - 316
5 WASHER-#10-SPLIT-SS 4 Spring Lock Washer - #10 - Stainless Steel - 316



27-1012-0004 - 16in Cooler with 16in Brushless Fan


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


